Tr ﬁmamﬂéf Kevitw

5 < (8)-=%

\/(

o | ¢ X | X | x| 2n|37n|5m :
e ‘ — 4 3 2 3 4 m6— 8

e ¢_ /,& o

COS « V3 fv2 1 1 /3
1 ( L | o | _L1|_x2| 3|4

\J 2 3 | 2
s E
(5) sm(%an (rD = ﬁ =\ [Z]

.__.IT_
6

0

3

-

0




’ : it
(a) cos( Lot B)) = 603(6) =] %
o0 |\ = |\z | x|[2x [3a]5n
6 4 4 2 3 4 6
cot® (3 ) 1723 | o[l 13]-1]-3
3 3
N =
) n x| 21| 37 | 5n
e @ 4 2 |3 |4 | |™
v | |
COS o 11\__?1 V2 B 0 | _1|_~2|_~3|1
> 12 (2 2| 27| 2
L - /B iy
() w(anf)= o’ (F) =[3]
d = N -y /E“)zg x|
2| 3| 4| 6 §/4 3 |2
sina| g | 3| 2] 1 0 V2 [\3 1
21 2| 2 "RIF3



@ « snle0" - 4°) -
d
Mmﬁ Jorwula. ﬁh[ai;/é)::in/c%/zf-si; cd.

‘= gn 60° CHUS’ - Gyl (o b0° =

= E : E— - E i T
b z 2 e
Y 8 [ | _T
1
I‘ | +av:3 +Jran i
@/\ Jfowl +q + 1- +av| 1Lah\4 3
NN fonk +infp
U/S’Wj forWi{/a ‘Fdh F) =il *{-aufg
NEECETEEN NI EN
1- 3 -\ i}

Wwe (an sfamf!/{f;y e gmswer {7 /aﬁaha/?/;y Zhe

o&ﬂOW/rm%ﬁr
(1493) (fﬂ)z) 1433 +3 Y+qiz

-—

{—'—E'/uﬁ) /')3 /f’"’g) 1 -3 BT
=|-2-13 | '
(i) (o3 //aw’) = j’ L T ouse Ha fabfe

or

= coa[éa?ao") or = coslboesr’)



